
B. A./B.Sc. 6th Semester (General) Examination, 2022 (CBCS)

Subject : Economics

Paper : DSE-1B

(Environmental Economics)

Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in

their own words as far as practicable.

øé¬Ì √õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/ ¬Ûı˛œé¬±Ôœ«Àı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any ten questions : 10×2=20

ïÀ˚ Œfl¬±ÀÚ± ˙øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. Define economic environment

’Ô«ÕÚøÓ¬fl¬ ¬Ûøı˛ÀıÀ˙ı˛ ¸—:± ±›/

b. Mention any two impacts of economics development on environment.

¬Ûøı˛ÀıÀ˙ı˛ Î¬◊¬Ûı˛ ’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛ÀÚı˛ Œ˚ Œfl¬±ÀÚ± ≈øÈ √õ∂ˆ¬±ı√ Î¬◊À{°‡ fl¬ı˛/

c. What is the need for environment protection?

¬Ûøı˛Àı˙ ¸—ı˛é¬Ú √õ∂À˚˛±ÊÚ Œfl¬Ú∑

d. Name any four international environmental organisations.

Œ˚ Œfl¬±Ú ‰¬±ı˛øÈ¬ ’±ôL√Ê«±øÓ¬fl¬ ¬Ûøı˛Àı˙ ¸—·Í¬ÀÚı˛ Ú±˜ Œ˘‡/

e. What is sustainable development?

ı˝˜±Ú Î¬◊iß˚˛Ú fl¬±Àfl¬ ıÀ˘∑

f. Mention any two impacts of population growth on environment.

¬Ûøı˛ÀıÀ˙ı˛ Î¬◊¬Ûı˛ ÊÚ¸—‡…± ı‘øX¬ı˛ ≈øÈ¬ √õ∂ˆ¬±ı Î¬◊À{°‡ fl¬ı˛/

g. Draw a relationship between poverty, environment and development.

¬±øı˛^, ’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛Ú › ¬Ûøı˛ÀıÀ˙ı˛ ˜ÀÒ… ¸•Ûfl«¬ øÚÚ«˚˛ fl¬ı˛/

h. Write down three main environmental problems in the developing countries.

Î¬◊iß˚˛Ú˙œ˘ ŒÀ˙ı˛ øÓ¬ÚøÈ¬ √õ∂Ò±Ú ¬Ûøı˛Àı˙·Ó¬ ¸˜¸…± Î¬◊À{°‡ fl¬ı˛/

i. Define common property resources with example.

Î¬◊±˝ı˛Ì ¸˝ ¸±Ò±ı˛ÀÚı˛ ’øÒfl¬±ı˛À˚±·… ¸•ÛÀı˛ ¸—:± ±›/
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j. What is meant by open access resources.

˜≈Mê ı…ı˝±˚« ¸•Û ı˘ÀÓ¬ øfl¬ Œı±Á¬/

k. What is meant by trans boundary pollution?

’±ôL√– ¸œ˜±Ú± øˆ¬øMfl¬ ”¯∏Ì fl¬±Àfl¬ ıÀ˘∑

l. Mention two measures of reducing trans boundary pollution?

’±ôL√– ¸œ˜±Ú± øˆ¬øMfl¬ ”¯∏ÌÀı˛±ÀÒ ·‘˝œÓ¬ ≈øÈ¬ ı…ı¶ö± Œ˘‡/

m. What is meant by tradable pollution permit?

ı±øÌÊ…À˚±·… ”¯∏Ì ’Ú≈˜øÓ¬ ı˘ÀÓ¬ fl¬œ Œı±Á¬∑

n. What is meant by tragedy of commons?

¸±Ò±ı˛Ì ¸•ÛÀı˛ È¬™…±ÀÊøÎ¬ ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

o. What do you mean by irreversibility of environmental process?

¬Ûøı˛Àı˙ ¬√õ∂øSê˚˛±ı˛ ’¬Ûøı˛ıÓ«¬Úœ˚˛Ó¬± ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

2. Answer any four questions 4×5=20

ïŒ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. Explain the inter-linkage between environment and economy. What is environmental

Kuznets curve? 2+3

¬Ûøı˛Àı˙ › ’Ô«ÚœøÓ¬ı˛ ˜ÀÒ… ’±ôL√– ¸•Ûfl«¬ ’±À˘±‰¬Ú± fl¬ı˛/ ¬Ûøı˛Àı˙ øı¯∏˚˛fl¬ fl≈¬ÊÀÚÈ¬¸ Œı˛‡± fl¬±Àfl¬ ıÀ˘∑

b. Why environment is public good? Mention some methods of pollution abatement. 2+3

¬Ûøı˛Àı˙Àfl¬ ·Ì^ı… ı˘± ˝˘ Œfl¬Ú∑ fl¬À˚˛fl¬øÈ¬ ”¯∏Ì ¬”ı˛œfl¬ı˛Ì ¬ÛX¬øÓ¬ Î¬◊À{°‡ fl¬ı˛/

c. Mention the concept of externality in the context of environment. Give examples of positive

and negative externality. 2+3

¬Ûøı˛ÀıÀ˙ı˛ ı±ø˝…fl¬Ó¬±ı˛ Ò±ı˛Ì±øÈ¬ Î¬◊À{°‡ fl¬ı˛/ ı±ø˝…fl¬Ó¬±ı˛ ˝◊øÓ¬ı±‰¬fl¬ › ŒÚøÓ¬ı±‰¬fl¬ √õ∂ˆ¬±Àıı˛ Î¬◊±˝ı˛Ì ±›/

d. What is meant by market failure? Explain the concept of Pigouvian tax in correcting

externality. 3+2

ı±Ê±Àı˛ı˛ ı…Ô«Ó¬± fl¬±Àfl¬ ıÀ˘∑ ı±ø˝…fl¬Ó¬± øÚı˛¸ÀÚ ø¬Û&øˆ¬˚˛±Ú È¬…±À'ı˛ Ò±ı˛Ì±øÈ¬ ı…±‡…± fl¬ı˛/

e. Why is environmental protection necessary? Mention the direct economic instruments for

protection. 2+3

¬Ûøı˛Àı˙ ¸—ı˛é¬ÀÚı˛ √õ∂À˚˛±ÊÚœ˚˛Ó¬± øfl¬∑ ¬Ûøı˛Àı˙ ¸—ı˛é¬ÀÚı˛ √õ∂Ó¬…é¬ ’Ô«ÕÚøÓ¬fl¬ Î¬◊¬Û±˚˛&ø˘ Î¬◊À{°‡ fl¬ı˛/
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f. Write the full form of UNEP. Briefly mention international policy instruments controlling

pollution  and environmental degradation. 2+3

UNEP-ı˛ ¬Û≈Àı˛± Ú±˜øÈ¬ ı˘/ ”¯∏Ì øÚ˚˛LaÀÚ › ¬Ûøı˛Àı˙ é¬˚˛ Œı˛±ÀÒ ·‘˝œÓ¬ ’±ôL√Ê«±øÓ¬fl¬ ÚœøÓ¬ ¸—Àé¬À¬Û Î¬◊À{°‡
fl¬ı˛/

3. Answer any two questions : 2×10=20

ïŒ˚ Œfl¬±ÀÚ± ≈øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. Briefly analyse the relationship between international trade and environment. Write down

the full form of EPA. 8+2

’±ôL√Ê«±øÓ¬fl¬ ı±øÚÊ… › ¬Ûøı˛ÀıÀ˙ı˛ ¸•ÛÀfl«¬ ’±À˘±‰¬Ú± fl¬ı˛/ EPA-ı˛ ¬Û≈Àı˛± Ú±˜øÈ¬ Œ˘‡/

b. Mention the basic principles of sustainable development. Discuss how substainability can

be measured. 8+2

ı˝˜±Ú Î¬◊iß˚˛ÀÚı˛ ˜”˘ ÚœøÓ¬&ø˘ Î¬◊À{°‡ fl¬ı˛/ ı˝˜±ÚÓ¬± ¬Ûøı˛˜±À¬Ûı˛ Î¬◊¬Û±˚˛&ø˘ ı…±‡…± fl¬ı˛/

c. State coase theorem. Elaborate the idea of Coase theorem in solving negative externality.

2+8

¬Àfl¬±¸ Ó¬MWøÈ¬ Œ˘‡/ ¤˝◊ Ó¬MWøÈ¬ı˛ øˆ¬øMÀÓ¬ ŒÚøÓ¬ı±‰¬fl¬ ı±ø˝…fl¬Ó¬± øfl¬ˆ¬±Àı ”ı˛ fl¬ı˛± Œ˚ÀÓ¬ ¬Û±Àı˛ Œ¸øÈ¬ ’±À˘±‰¬Ú±
fl¬ı˛/

d. What do you mean by economics of climate change. Mention briefly global climate change

mitigaton  efforts. 2+8

Ê˘ı±˚˛≈ ¬Ûøı˛ıÓ«¬ÀÚı˛ ’Ô«ÚœøÓ¬ ı˘ÀÓ¬ øfl¬ Œı±Á¬±˚˛∑ øıù´ Ê˘ı±˚˛≈ ¬Ûøı˛ıÓ«¬Ú Œı˛±Ò fl¬ı˛±ı˛ ˘Àé¬… ·‘˝œÓ¬ ı…ı¶ö±&ø˘
¸—Àé¬À¬Û Œ˘‡/
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Paper : DSE-1B

OR

(Public Finance)

Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in

their own words as far as practicable.

øé¬Ì √õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/ ¬Ûı˛œé¬±Ôœ«Àı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any ten questions : 10×2=20

ïÀ˚ Œfl¬±ÀÚ± ˙øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. State two differences between public finance and private finance

¸ı˛fl¬±ı˛œ ’±˚˛-ı…˚˛ › ı…øMê·Ó¬ ’±˚˛-ı…À˚˛ı˛ ˜ÀÒ… ≈øÈ¬ ¬Û±Ô«fl¬… ø˘‡/

b. How is change in social welfare judged in Pareto criterion?

¬¬Û…±Àı˛ÀÈ¬± ˙ÀÓ«¬ı˛ ¸±˝±À˚… ¸±˜±øÊfl¬ fl¬˘…±ÀÌı˛ ¬Ûøı˛ıÓ«¬ÚÀfl¬ fl¬œˆ¬±Àı øı‰¬±ı˛ fl¬ı˛± ˝˚˛∑

c. What is exclusion principle?

ı± Œ›˚˛±ı˛ ÚœøÓ¬ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

d. What is externality in economics?

’Ô«ÚœøÓ¬ÀÓ¬ ı±ø˝…fl¬ √õ∂ˆ¬±ı ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

e. Define a tax.

fl¬Àı˛ı˛ ¸—:± ±›/

f. Distinguish between a direct tax and an indirect tax.

¬√õ∂Ó¬…é¬ fl¬ı˛ ¤ı— ¬ÛÀı˛±é¬ fl¬Àı˛ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… Œ‡±›/

g. Give two examples of each of direct and indirect taxes in India.

¬ˆ¬±ı˛ÀÓ¬ı˛ ¬Ûøı˛À√õ∂øé¬ÀÓ¬ √õ∂Ó¬…é¬ fl¬ı˛ ¤ı— ¬ÛÀı˛±é¬ fl¬Àı˛ı˛ ≈øÈ¬ fl¬Àı˛ Î¬◊±˝ı˛Ì ±›/

h. What is impact of taxation?

fl¬ı˛‚±Ó¬ fl¬±Àfl¬ ıÀ˘∑

i. Mention the differences between public debt and private debt.

¸ı˛fl¬±ı˛œ ŸÌ ¤ı— ı…øMê·Ó¬ ŸÀÌı˛ ˜ÀÒ… ¬Û±Ô«fl¬…&ø˘ Î¬◊À{°‡ fl¬ı˛/
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j. What are the sources of internal public debt?

’ˆ¬…ôL√ı˛œÌ ¸ı˛fl¬±ı˛œ ŸÀÌı˛ Î¬◊»¸&ø˘ fl¬œ∑

k. What is meant by direct money burden of public debt?

¸ı˛fl¬±ı˛œ ŸÀÌı˛ √õ∂Ó¬…é¬ ’±øÔ«fl¬ Œı±Á¬± ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

l. What are the full forms of VAT and GST?

VAT ¤ı— GST-¤ı˛ ¬Û≈Àı˛± fl¬Ô± ≈øÈ¬ fl¬œ∑

m. What is unproductive public expenditure?

’Ú≈»¬Û±Ú˙œ˘ ¸ı˛fl¬±ı˛œ ı…˚˛ ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

n. What is fiscal deficit?

øÙ¬¸fl¬…±˘ ‚±È¬øÓ¬ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑

o. Mention the main functions of the Finance Commission of India?

¬ˆ¬±ı˛ÀÓ¬ ’Ô« fl¬ø˜˙ÀÚı˛ √õ∂Ò±Ú fl¬±Ê&ø˘ Î¬◊À{°‡ fl¬ı˛/

2. Answer any four questions : 4×5=20

ïŒ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. Explain the characteristic features of public goods.

¬·Ì^Àı…ı˛ ∆ıø˙©Ü…&ø˘ ı…±‡…± fl¬ı˛/

b. Distinguish between revenue expenditure and capital expenditure.

ı˛±Ê¶§ ‡±ÀÓ¬ ı…˚˛ › ˜”˘ÒÚœ ‡±ÀÓ¬ ı…˚˛-¤ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… ø˘‡/

c. State the arguments in favour of direct tax.

√õ∂Ó¬…é¬ fl¬Àı˛ı˛ ¬ÛÀé¬ ˚≈øMê&ø˘ Œ‡±›/

d. State the criticisms made against benefit approach of taxation.

fl¬ı˛ ’±Àı˛±À¬Ûı˛ ¸≈øıÒ±ı˛ Ó¬ÀMWı˛ øıèÀX¬ ¸˜±À˘±‰¬Ú±&ø˘ Œ˘‡/

e. Examine whether there is any burden of internal public debt.

’±ˆ¬…ôL√ı˛œÌ ¸ı˛fl¬±ı˛œ ŸÀÌı˛ Œfl¬±Ú Œı±Á¬± ’±ÀÂ øfl¬Ú± øı‰¬±ı˛ fl¬ı˛/

f. State the arguments given in favour of introducing GST in India.

ˆ¬±ı˛ÀÓ¬ GST √õ∂ıÓ«¬ÀÚı˛ ¬ÛÀé¬ √õ∂M ˚≈øMê&ø˘ Œ‡±›/
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3. Answer any two questions : 2×10=20

ïŒ˚ Œfl¬±ÀÚ± ≈øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. Explain with the help of an appropriate diagramme what is meant by progressive,

proportional and regressive tax.

√õ∂·øÓ¬˙œ˘, ¸˜±Ú≈¬Û±øÓ¬fl¬ › ’ÀÒ±·øÓ¬˙œ˘ fl¬ı˛ ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛ Ó¬± ¤fl¬øÈ¬ Î¬◊¬Û˚≈Mê Œı˛‡±ø‰¬S ¸˝À˚±À· ı…±‡…±
fl¬ı˛/

b. Explain the ability to pay approach of tax.

fl¬ı˛ ’±Àı˛±À¬Ûı˛ ¸±˜ÀÔ«…ı˛ Ó¬MWøÈ¬ ı…±‡…± fl¬ı˛/

c. Discuss about the importance and effectiveness of fiscal and monetary policy.

ı˛±Ê¶§ ÚœøÓ¬ › ’±øÔ«fl¬ ÚœøÓ¬ı˛ &èQ › fl¬±˚«fl¬±øı˛Ó¬± ¸•§Àg¬ ¸—øé¬l ’±À˘±‰¬Ú± fl¬ı˛/

d. Explain the sources of financial disputes between the centre and states in India.

ˆ¬±ı˛ÀÓ¬ Œfl¬f › ı˛±ÀÊ…ı˛ ˜ÀÒ… ’±øÔ«fl¬ ¸•ÛÀfl«¬ øıÀı˛±ÀÒı˛ Î¬◊»¸&ø˘ ’±À˘±‰¬Ú± fl¬ı˛/
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